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6. General speaking, 1: growth, 2: decline, 3: incubation, 4: saturation, the sequence of]

product life cycle is (A) 1234 (B) 3142 (C) 2341 (D) 3412.
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7. Forecasts that use subjective inputs such as opinions from consumer surveys, sale staff,

9. A 48/b3%3t X 7T 454525 A (A) The entire module must be scrapped-usually at a higher

10.

manager, and experts. We call it forecasts based on (A) associative models (B) time

series (C) judgment (D) none of above.

T 547 IE & 4 B 2 4E 2L ? (A) Material handling costs per unit are low (B)

Labor costs are low per unit (C) The system is fairly flexible to changes in volume of]

output (D) There is high utilization of labor and equipment.

cost (B) Failure diagnosis is more complex (C) Inventory problems arise (D)

Replacement and repair is more difficult.
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14. FHIRAATHIER JIT 22 4 ? (A) Cross-trained workers (B) Kanban (C) Pull

system (D) Push system.
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